A-BRL-M-DJFB

Tatae g=ifa=dt / CIVIL ENGINEERING
T91-U= I/ Paper I1

et a9 - 7 a2 . SferFay 3% : 250
Time allowed : Three Hours Maximum Marks : 250

uvA-u= < forg fafre smem
FUIT Y971 T I 54 T gd [FH107Rad Tedeh HFQ9T &l SqYaH T8 -
5G4 318 Jv7 & 5 ¢ @usi 4 fayifsia § aer gt St srawt Gl H 89 & |
TUETT F FoT Gie Yl % Fo AT 8
Yo7 HEI1 1 3R 5 TR & aor @19 § @ Y% @S G F-F-FH Uk Y9 FAH g a7 351 & I ST
e G/ 3 3T 3q G R e
Yl & I I gream T @ S w@ifEy frge 3g@ 9% NEv-U7 § [FAr 7y 8, 3k 5E mey @ e e

JoT-TE-F (FLH1.0.) JiEasr & J@-y3 W 3ifba 1Hl5s T W 337 T =130 | Jighaa aream & siait s
fesd] wreerm 7 forE T 3T W FIE HE 9@ el |

¥ &1 W &7 @ 77 7% BI¥ TR T T 7, @ 3% E €7 & [ieE Hg |
meéﬁmaﬁaﬁmﬁ 1w 7w worT & R@/ 7 F9Ee |
TH d% 3T 7 51, Tbad TUT Fegracl! T=lcid HiE T 4 IqFHE |

vl & I & AT FHGER E St | a2 el 967 7, @ 99 F Jot &) q0Er F e Tg a8 I S 297 T
&l | ITR-YIeaT 3 @I SIST 5371 Y8 A1 IS 79 H) €9F &Y § FT A7 =IGT |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in two SECTIONS and printed both in HINDI and in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at least
ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for
answers written in @ medium other than the authorized one.

Wherever any assumptions are made for answering a question, they must be clearly indicated.
Diagrams/Figures, wherever required, shall be drawn in the space provided for answering the question itself.
Unless otherwise mentioned, symbols and notations carry their usual standard meanings.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall be
counted even if attempted partly. Any page or portion of the page left blank in the answer book must be clearly
struck off. :
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Q1. (a)

(b)

(c)

(d)

(e)

(a)

(b)

@us A
SECTION A

(i) oo (CaeT) TS et @ N I FE 8 2 U STgied-hE QiR |
Gi)  o1.oms M. fe-gha FHaRo % STER WS Y Fie ¥ 9 gu shshle
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@ﬁﬁaﬁmﬂmﬁﬁﬂ)mﬁﬁﬁaﬁmmrﬁaﬁmm;

0-860, 0-785, 0-660, 1-760, 1-990, 0-665, 0-650 AT 0-620
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THARY |
1) What do you understand by rubble masonry block ? Show a
cross-section.

(i1) What kind of special attention is necessary for maturing concrete

made with fly ash cement as per BIS codal provision ?

Define ‘Sinking fund’ with respect to an equipment. If the cost of
equipment is ¥ 15 lakhs and scrap value after useful life of 8 years is

T 3 lakhs, calculate the annual sinking fund if the applicable rate of

annual interest is 10%. There is no escalation of cost.
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2.

(c)

- (d)

(e)

(a)

Write short explanatory notes giving sketch, if necessary, with respect to
Railway track :

) Marshalling yard
(i1) Turn-table
(ii1) Fish plates and fish bolts

(1v) Check rails and guard rails

The following consecutive readings, in metres, were taken by a dumpy
level :

0-860, 0-785, 0-660, 1-760, 1-990, 0-665, 0-650 and 0-620

The instrument was shifted after 3™ and 5% readings. The last reading

was on the bench mark whose reduced level was 130-00 metres. Book
the above data in a proper tabular form and compute the reduced levels
of other points using rise and fall method. Apply the usual arithmetic
check.

Explain with sketches the salient factors controlling the alignment of a
road.

U YRS § G BRamshed P, Q, R, S, X, Y @9 Z B | 3 3T ol
ety Fefafad greft 4 fegme e # -

PRSI ﬁvmma:r;aj i ?E
YA |
P 18 9 12 i
Q 17 6 10 P
R 8 4 6 P
S 26 4 | 1 QR
X 91 10 14 Q
Y 14 8 11 S, X
Z 10 6 8 S
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(i) Aeaeh (q) N =AY |
(i)  3hifdes 9¥ SIS qe Yeaiiyra ot gaa o1 fafwor $ifs |
(i) 37T Galfye sifae 79 7a hifs |
(iv)  fEieHT 6t 58 feT § R En <l wifiekar . B 2 siRiesdar Ul (Z)
Aol & WTRIRdT UehETdq: STty &l dehdl g |
Z 10 | 15 | 20 | 25 | 30
BUBET 84-13 | 93:32 | 97-72 | 99-38 | 99-87

(b) HF THR % Ic@HAl hl U gadTeId ScdiAl b w@T @M B 2 TR
gRfeial # 3w e (Afee) 6 e Fae (HOE) aifts was by s
& ? Ul P (HOE) % fafia wiml =it Ty 3 gU T e m@
S5 | $aid (HOE) & 1f¥eh == &l wwifaq & arel Sient 1 gefleg
Hifs |

(a) A project consists of seven activities P, Q, R, S, X, Y and Z. Their
sequence and duration is shown in the following table :

e Duration in weeks Immediate
Activity - = :
Pessimistic | Optimistic | Most likely | Predecessor
P 18 9 12 —
Q 17 6 10 P
R 8 4 6 P
S 26 14 17 Q, R
X 21 10 14 Q
il 14 8 11 S, X
Z 10 6 8 S
(1) Draw the Network diagram.
(i) Show the critical path and determine the expected completion
time.
(1i1) Find the next most critical path.

(iv) What is the probability of the project being completed in
58 days ? Probability may be linearly interpolated from the table

of probability factors (Z).

Z 1-0 1-5 2-0 2-5 3-0
Probability | 84-13 | 93-32 | 97-72 | 99-38 | 99-87

30
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(b)

3. (a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

What are the advantages of Hydraulic Excavators over other types of
excavators ? Under what conditions should a HOE be preferred over a
front shovel ? Draw a schematic sketch illustrating various parts of a

typical HOE. List the factors affecting the economical choice of a HOE.

2 i darl i AR % s (o) =1 ywifem & It &
FH-H A 8 2 1.S. HIE & FER Afwer (fesmsa) i fafy =1 ws wfew
fereror i |

e Fhe § srfiufism F w9 § Iugw Tgas fan % Su-8sn 37 Tl
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e Gerul % Ievd Sdd g TS Ucll hl Ul o (vl o forg fafie
afiequnl sl HaT H sy |
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AR Hohd TR S 8 | T A T TS B & Ucdeh oA (49) @ g
ATATTE T T ©Ue] Feidl SHTel gaTd shA3l: 275 A1 225 8 | Hgeh A TdT TSk
B & fore summ (qg=) 1 i shHr: 55 A9 40 kmph & | ATARIG Hehdl %
wa-feieor s sifieren (fesme) Hifs |

Teh A% Ty Urat 3af 4 Tekvg qon Uge B o fofu 3 derve S |

What are the factors affecting design of brick masonry walls ? Give a
brief account of the method of design as per L.S. codes.

Name and discuss at least three advantages of adding appropriate

polymer as admixture in cement concrete.

Explain briefly the various tests for judging the suitability of Road

stones giving objectives of each test.

Traffic signals are to be installed on a right angled intersection with
Road A, 18 m wide and Road B, 12 m wide. The heaviest volumes of
traffic per hour for each lane of Road A and Road B are 275 and 225
respectively. The approach speeds are 55 and 40 kmph for Road A and

Road B respectively. Design the timings of traffic signals.

Take amber period for Road A as 4 seconds and for Road B as 3 seconds.
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Q4. (a) Hite whehle Ffem & Fmior 5 fafira =wor w1 aofa Al | Hshie Hign 4 el

(SAT$eH) 1 WHY IFH (TTeRT) 15T |
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(c) (1)

(i1)

Teh HZ YHFT T TH 300 m A1 I=sg {@1 AB SHEE BIEUTE T
102-3 mm T ST 2 | BIUTE W Ueh Hear et off fous car & |
ey fogetl ¥ widfers o et 2ot & a1 9 M & =@l 7 gl
SOHRM: 70 mm qUT 801’nrn‘31'l'§’1'|'$e l‘iﬁmaﬂlfﬁ@ﬁﬁm553m%l
e T F=1E Wid hIRT | £= 152-4 mm AT |

60 kmph % YR 9 & T oW (J8) W ST SId T TH TS
F IS S T H Th doh, I e[ & A9 3d e o @
ST Y S TR H Thd dh bl ITUET 9 m A g qF Ll & | I3
TR qAT FHleW o &= GHT oMk 0-4 &, <l T e a1 2 ?

(a) Describe the various steps in the construction of a cement concrete

pavefnent. Show the general layout of joints in concrete pavement.

(b) What is ballast ? Why is ballast used in Railway track ? Write briefly on
different types of ballast used. Why is it necessary to replace stone

ballast from time to time ?

(0 @

(ii)

(A-BRL-M-DIFB |

A section line AB 300 m long on a flat terrain measures
102-3 mm on the vertical photograph. A Radio tower also appears
on the photograph. The distance measured from the principal
points to the image of the bottom and top of the Radio tower are
found to be 70 mm and 80 mm respectively. The average
elevation of the terrain was 5563 m. Determine the height of the

tower. Take f = 152-4 mm.

The driver of a vehicle travelling at an initial speed of 60 kmph
up a grade requires 9 m less to stop after he applies the brakes
than a driver travelling at the same initial speed down the same
grade. If the coefficient of friction, between the tyres and the

pavement is 0-4, what is the percent grade ?
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5. (a)

(b)

(c)

(d)

(e)

(a)

(b)

(c)

(d)

wus B

SECTION B
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What are the different approaches for estimating sedimentation in

Reservoirs ? Draw a typical sketch to show the profile of silt deposition

in Reservoir.

Explain what is meant by filtration for drinking water. Draw a
schematic diagram of a slow sand filter showing inlet, outlet and other

components.

Write briefly on the suitable river training measures to be adopted for

the protection of upstream side of a barrage during flood time.

Explain briefly the procedure to be followed in developing a unit
hydrograph from the recorded flood hydrograph of a stream, stating the

assumptions.
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(e)  Define the following terms :
(1) Sewage
(i1) Sewers
(ii1l)  Sewerage

Explain the Rational method for the design of storm sewers. What are
the disadvantages of this method ? 10

Q6. (a) Trfafed =1 @azmsy
(i) Hrag-fasiEa: g &
(i)  qH 9§l & GRERT

fyfirr sl % forw aufardt R w afaa 9ot A= gefag @ | rfusan
Srgrar — srafyy as s 1sC | Gsh b1 THfd W fewoft iR |

fime = ot | e d | ot H
0 0 40 5-23
5 0-15 45 5-64
10 0-38 50 6-05
15 1-78 60 6-86
20 3-05 80 8-71
25 3-86 100 10-54
30 4-32 120 11-05

35 4-83

b R el ¥ Fefafe i gen i
(i) STt SIIIRE qadT S STl feraTor qat
() o7 YUSHU STl S ITT SUNT S&fa
@«%ﬁaﬁwaﬁwaqtﬁ-wwwcnﬂm%amrﬁsﬁamlm
2| w9 3ueed T w1 50% EElK B @ oo 12 gwear & Tt foea
ST R | FeEqH IUNNT I € 4 mm /T & den agl A el et A #
af &7 FTAE 2Ea1 50% €), 4 g g Y e S it |
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) Tratafea sifyaeol afza smfice o« ST & fow v gamen Sa-fees
& s Tuifa HifS .

¢k yamE & = 100 m®/ f& |

e e % gvET e fe d1.31El = 160 mg/lit
freferfiad mmague afta freics wrfimsfera femn s 2

WW = 2 m3/m?2/ &

I WA = 0-15 ke 5-fe7 1.7 .21 o 9fd m3 ufd &4

(a)  Explain the following :

(i) Meteorologically homogeneous areas

(i1) Recurrence interval of rain-storm

The accumulated rainfalls at a raingauge station for various durations

are listed below. Construct maximum intensity —duration curve.

Comment on the nature of curve. 20
Time in | Accumulated | Timein | Accumulated
minutes | Rainfall in cm | minutes | Rainfall in cm

0 0 40 5.93

5 0-15 45 5-64
10 0-38 50 6:05
15 1-78 60 6-86
20 3-05 80 871
25 3-86 100 10-54
30 4-32 120 1105
35 4-83

(b)  Compare the following in irrigation system :
9] Water application efficiency vs. Water distribution efficiency
(i1) Water storage efficiency vs. Consumption use efficiency
The available moisture holding capacity of the soil of a field is 16 cm/m
and the root zone depth is 1 m. A 12 hectare area is to be irrigated when
50% of the available moisture is depleted. The rate of peak consumption

use is 4 mm/day and there is no effective rainfall. If the field application
efficiency is 50%, determine the capacity of the irrigation stream. 15
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(c) Determine the dimensions of a circular Bio-filter to treat waste water
with the following characteristics :

Daily Flow Rate = 100 m®/day
Five-days BOD after primary sedimentation = 160 mg/lit
The filter is to be designed in accordance with the following criteria :
Surface loading = 2 m3/m%day
Organic loading = 0-15 kg 5-days BOD value per m° per day 15
Q7. (a (i) AT (Frgl) oL qUT I9e TG0l T8t % die =R T HT |
(ii) el U S I F-HT BT § 2 I i okl yHIled S 9T
faftm et @1 sgE il |
(i)  TH UW hl UR FA GY UH 6L kI Al W T IUYwH T
FyarE (S freera) fmbor T |feq weafaa Sifsm | == & fau
T FATSTY | Tel ql 91 Hiehg Hfafaa § -

TG Alehg
qyfaﬂtﬂ%fﬁww = (0-45 cumec
quf Sgff = = R.L. 300-600
T8 ad & = R.L. 300-000
WW#@E‘ — B
mmﬁw = 6 cumec
3= 91 TiX = R.L. 300-500
YR d & = R.L. 299-400
WTeh{deh 9 & = R.L. 299-500
ﬂﬁﬁwaﬁﬁwaﬁ@%ﬁmaﬂﬁm
(b)  Ueh TR o U Se ferawor it olig St (e smre) el qen s yomedt =5
ANE! 6 geEdT § Gy |
(©) ﬁw%%ﬁmﬁ@@%?ﬁwmm?ﬁ%q
s ¥ TS 200 m
WhH B AHTH = 1m
Eﬂ'g'aﬂ = 3-5 m/sec
i ™ = 13°C
el (agFee®) @ = 1000 millibars (frefier)
T g o = 9 m/sec
Wb 1| q9 = 140°C
smwa“rwéa’sﬁ%é%%q%@ﬁaml
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(ii)

(iii)

Explain the difference between contour canal and side slope canal.

What are the losses of water from canals ? State the various

factors affecting their magnitude.

Propose with a sketch, a suitable cross drainage work at the
location of a canal crossing a stream. Give reasons for the

selection. The canal and stream data are as under :

Canal data
Full supply discharge = 0-45 cumec

Full supply level = R.L. 300-600
Canal bed level = R.L. 300-000
Canal bed width = .

Stream data
High flood discharge = 6 cumec
High flood level = R.L. 300-500
Stream bed level = R.L. 299-400

Natural ground level = R.L. 299-500

State the characteristic features of the selected structure.

(b) Explain with the help of diagrams the Grid iron system and the Radial

system of water distribution for a town.

(c) Find out the effective height of a stack from the following data :

Physical stack height = 200m

Inside diameter of the stack = 1m

Wind velocity = 3-5 m/sec

Air temperature = 15°C
Barometric pressure = 1000 millibars
Stack gas velocity = 9 m/sec

Stack gas temperature = 140°C

Draw a sketch to show the effective height.
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Q8. (a) @Wéﬂﬁﬁf@%@l760m6§m%w€m%%ﬁm3ﬂw
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2 lsﬂﬁwéﬁawﬁzmmﬁﬁﬁwa@a@ﬁmmw%ﬁh
150 rpm S HOM Hd @ | e I R dedl B e SEH H 8 S

10 m &%, QOCm?ﬁ%HS’HWﬁ 1.5 cm Shigd & |

e <R ST % waTg W Sitad 9 ded 9T 20% &, STet 1 A9 10°C AT
Cp = 18.

e quT oI % e 9§ AN, Sitgq ST YEUET SR SAeld @H
HfT |

s AT 10°C @19 W 1-31x 107* mZ/sec ol ST Hehdl B |

(a) A well is drilled to an impermeable base in the centre of a circular island
1760 m diameter located in a large lake. The well completely penetrates
a sandstone aquifer 16 m thick overlaid by an impermeable clay. The
sandstone has permeability of 16 m per day.

What will be the steady discharge if the drawdown of the piezometric
surface is not to exceed 3 m at the well ? The diameter of the well is

0-3 m.

Draw a sketch showing the well and the aquifer system. 20
(b)  State the circumstances under which the following types of energy

dissipators will be suitable for spillways : 10

(1) Solid roller bucket
(i1) Ski-Jump bucket
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(c)

A water treatment plant is to treat a design discharge of 60 million litres
per day. The plant has a paddle flocculator 20 m long, 12 m wide and

3-56 m deep. It is fitted with four horizontal shafts to which revolving
paddles are attached which rotate at 150 rpm. Each shaft supports four

paddles which are 10 m long, 20 cm wide and centred 1-5 ¢cm from the
shaft.

Assume mean velocity of flow of water as 20% of the paddle velocity,

temperature of water as 10°C and Cp = 18.

Determine the difference in velocity between paddle and water, mean
velocity gradient and detention time.

Dynamic viscosity can be taken as 1-31 x 10~% m%/sec at temperature of
10°C.
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